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I. Answer the given Multiple Choice Questions .                                              ( ½ x 12 = 6 )                                 

a.  1 m = _______________ cm 1000 100 10 

b. 6003 cm = __________ 6 m 3 cm 60 m 30 cm 60 m 3 cm 

c. 69 km = ______________ m 690 69000 6900 

d. 7 km 205 m = _________ m  7205 m 70205 m 7005 m 

e. The unit to measure length of your  
    eraser  m km cm 

f. In   𝟕𝟕
𝟏𝟏𝟏𝟏

   the numerator  is  11 7 1 

g.  𝟏𝟏
𝟐𝟐
  is equal to  quarter One whole Half 

h.  13
29

                            15
29

  = < > 

i.  𝟐𝟐
𝟕𝟕
   is equal to  1

7
 

2
14

           4
14

    

j.  45000 m = _________________km 45  450  4500 

k.  one - fourth  4
1

 
1
4

 
4
4

 

l.   𝟑𝟑
𝟓𝟓
    =     𝟗𝟗    5 9 15 

 

 

 

 

 



 

II.  Match the following .                                                                                     ( 1/2 x 4 = 2 ) 

a.  
 

200 cm 
 1.  cm 

b.  
 

 1
5 

  of 25 is 
 2.  50 cm 

c.  
 

 1
2 

   of a metre is equal to 
 3.  2 m 

d.  
 

 

The unit of length used to measure a  
Pencil. 4.  

 
5 
 

  
III.  Read the given instructions carefully and solve .                                         ( 1 x 6 = 6 ) 

a.   Arrange the fractions in descending  order. 
11
17

 , 6
17

 , 12
17

 , 5
17

  

b.   Write two equivalent fractions for the given fraction  -     3
 11

 
 

c. i ) Subtract   15
19

   -    5
19

               ii )  Add    3
21

    +  7
21

    +   10
21

     

d.   Convert the following  

i )  4 km 115 m into m     ii ) 30 m 12 cm into cm 

e. Arrange in column and add  

135 m 23 cm          :        40 m 46 cm             :          245 m 40 cm 

f. Subtract  

33 km 260 m  from  83 km 760 m 

IV.  Read, understand and solve .                                                                          ( 2 x 2 = 4 ) 

a.  Raj had 45 cup cakes and he distributed   1
9
   of the cakes to his friends.How many   

 cakes did he distribute? 
 

b. The length of the red string is 35 m 50 cm. The length of the green string  
           is 41 m 85 cm .Which string is longer and by how much? 
    V.   Read,think and answer the questions.                                                         ( 2 x 1 =2 ) 

     1. The flag of a country has three equal parts of green,white and red.What fraction of the      
flag is not white ? 

 
     2. If 3 m 25 cm  is added to itself , what is the answer ?  
 



 

 


